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¥us— 3 / SECTION-A
Numerical Questions
(Q.1to Q.5-2 marks each)
g1 5l & IR BT RER 8, dI D TAD DIV BT AT fb1fery |

The angles of a quadrilateral are equal. Find the measure of each angle.

u2 fUGT # Y 60 ¥ 3R Y Bl MY 35 AV 7, Al Ardl DI AR BT AU A
PR |

Father's age is 60 years and son's age is 35 years. Find the ratio of their ages?
U3, HM S BITY FHIGRT &I O fh y=3x+2+6x MR x =38 dI

Find the value of equation y = 3x + 2 + 6x if x = 3.

4. I fHA I=a1 BT 15 U, 45 8, 1 I8 AT SId I |

If 15% of a number is 45, Find the number.
g5  TOM PIMT gxgy and 4xy? BT (Multiply)

(Q. 6 to Q. 15 Carry- 3 Marks each)

U6 B9 BT @ [TAT BISIY, ! oTell @ AT HASE 6 WHL, 5 HHL Tl
55 4H. B

Construct a triangle whose side are 6 cm, 5 cm and 5.5 cm.

U7 U IgYSl @ oI PIoT HAer 70°, 80° ud 130° 27 dl B0 BT AIF A DI |
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Three angles of a quadrilateral are 70°, 80° and 130°. Find the measure of the fourth

angle.

U8 US4 TS Dl BT Hod 48 . BI, Al 6 Goiv dall BT eI I DI |

If 4 dozen Bananas cost Rs. 48. Find the cost of 6 dozen Bananas.

U9 Ud GHMER 7 U I IMMTHANI 2850 . H TNIGHR 3420 . H 99 &I | Ulera
Y HIFY |

A shopkeeper bought a steel almirah for Rs. 2850 and soll it out for Rs. 3420. Find the

profit percent.
g10 fHd T R 5 a9 BT ARIRYT &7 10 YR a1f¥e &R F 150 . B SIQAT |

What sum lent out at 10% P.a simple interest would produce Rs. 150 as interest in 5

years?
T e

Simplify (a) (5x+6) and 3x.
U12 TGSl PQRS @1 Yrsil I AR 911 AT & | 9189 BIVN & = forRay |

The sides of quadrilateral PQRS are produces as shown in the figure. write the name of

the exterior angles.
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713 fhdl A& &7 23 UfA9ld, 46 2 | 98 &A1 9dgy |

23% of a number is 46. Find the number.

U144 SIEL TRAUE TGIeRR ¥ AU & 19 390 [l &1 g0 6 99¢ H I &l = |
ST @7 T =T DI ITUMET DI |

G.T. Express travels a distance of 390 km from Gwalior to Bhopal in 6 hours. Find it

average speed?

U415 AT 9 250,000 . H Th HR Bl WRIGHY IHDT 222500 %, § 99 <1, 39 fhad
OIRI o 3ferar BT+ 87

Reeta bought a car for Rs. 2,50,000 and sold if for Rs. 2,22,500. What percent profit or

loss she suffered?

(Q. 16 to Q. 20 — 5 marks each) (any 4- DI§— 4)

Y16 Ud BEAENT § 40 Iofbdl & ol 28 7 &7 9o d=eqT 2| 16 oTsfhdl & 3R
3 S T 9o Gl fohaa feq aerf?

A hostel has provision of food for 28 days for 40 girls. How many days the food stem

will last if 16 new girls are admitted in the hostel?

17 24,000%6.3772%@?3777%% qf¥d Frol PI ¥ T IR Gl DI 0T

PIFTY |

Calculate the simple Interest of Rs. 2400 for 2% years at the rate of Interest 7%% per

annum.

918 B BX|  (Simplify)

(— 2x2)>< (% xy)x (_?2 yzzj

19  SIfeU | (Add): 3x*+5 and 4x+7y
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20 fa=forRaa el & U argudl & 3R WX AABC P! oI BT | AB =6.89.4T,
BC =749 4T /B =70° |

Construct AABC, for the element given below.
¥us— § / SECTION -B

g1 @il R WY | (Fill in the Blanks)

, _100x........
PxR
3. o = BT — o
Profit=S.P. — .o,
4. (8X2y2)x (3x2) BT AT oo BT 2 |

(8x’yz) x (3xz) isequalto .......cccecveveneeee.

5. f&d FHIAR0T & BT W UG + 3 BT U UeT F GAX U H I AR A ...
e TR TR fhar ST \edr 2 |

A term + 3 of an equation can be transposed from one side to the other side by

subtracting ................. from both sides.
Number of medians of a triangle is .....................

7. T IV FaATHH B B, IfC STAD AT oo g

A triangle has sides.
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9.2

9. %WW:%X ................ x &S

Area of a triangle = %x ................ x height
10. U 3MP HIoT BT § BT ... 31ferep IoT BT & |
An obtuse angled triangle has maximum of ................ obtuse angle.

el fd®wed | (Choose the correct)

1. 4a®-9b’ DT UEUS (Factors of 4a” —9b?)

(@) (2a+3b) (2a-3b) (b)  (2a-3b)’
(©) (2a+3b)2 (d)  (4a+9b) (4a-9b)
2. @& &d © | The solution of is X;1+5= Xgl.
@ 17 (b) 16 € 17 d) 16

3. P9 & s dIvil @) A6l & AT BT 7 |

(Sum of the measure of the inkier angles of a triangle is.

(@) 90° (b)  180° (c) 360° (d) -180°

4. T3S @& ¥¥ 810 = | (Number of vertices of triangle is).

@ 1 (b) 2 ¢ 3 (d) 4
5. Ife x=0 B AT (2x+1) (1+4x) BT HIH BT |

If x=0 then the value of (2x+1) (1+4x) is

@ 1 () 0 © 2 d 3
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